Physics 2A

EXAM 3


Name:____________________ 

Rules for Exam:
1. Calculators are allowed, but you may not share one.

2. Show your work on non-multiple choice problems. NO WORK=NO CREDIT. 

3. Include units with each answer. One point deduction per infraction.

4. Points will be deducted for students that refuse to turn in their exams, when asked to do so (at the end of class).

5. Round off to 2 decimal places and circle your final answers.

6. Circle your final answers.
Good Luck!
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	1 mile= 5280 feet (exact)

	1 day= 24 hours (exact)

	1 km =0.6214 miles

	1 year=365.25 days

	1 inch= 2.54 cm (exact)

	1lb=0.454kg

	1 hour=60 minutes (exact)=3600 sec

	1 km=1000 meters (exact)

	1 slug=14.59 kg

	1ft=30.48cm

	1 foot= 12 inches

	1 mile= 1609.3 m

	1 gallon =3.785 liters=231 in3

	1 meter=39.37 inches

	1 cm=0.01meters=10 mm (exact)

	Mass of Earth 5.98x1024kg Radius=6.37x106m

	1 A.U.=1.5x1011m=distance to Sun

	Mass of Sun 1.99x1030kg

	G=6.67x10-11Nm2/kg2

	Ipoint=mR2;  Idisk=(mR2;  Irod=(mR2

	Acircle=r2; Circumference=2r


[image: image2.wmf]2

2

1

1

2

2

2

average

average

1

-

3

2

2

2

1

2

2

2

NC

2

2

2

2

s

k

2

2

;

;

;

2

1

2

1

2

1

;

;

;

;

f

2

 

:

frequency

f

       

f

T

&

.

.

1

;

K

;

3

'

;

KE

+

PE

W

0

=

KE

+

PE

 

:

Energy

 

of

on 

Conservati

2

1

2

1

    

;

2

1

2

1

cos

)

(

;

0

0;

=

F

m

Equilibriu

f

        

f

 

          

Law

 

2nd

 

'

fall

 

free

for 

 

32.2ft/s

80

.

9

A

F

A

F

A

F

P

P

gV

BF

V

M

I

I

L

L

mv

I

KE

I

KE

r

a

r

v

r

s

I

t

t

Period

years

in

T

U

A

in

R

if

K

R

T

Law

rd

s

Kepler

r

M

GM

F

mr

r

mv

F

r

v

a

kx

kx

EPE

mgy

mgy

GPE

mgy

GPE

mv

mv

KE

KE

W

x

F

W

mg

Weight

arm

lever

F

where

N

N

a

m

F

s

Newton

s

m

g

a

gh

atm

fluid

fluid

f

f

i

i

f

i

rolling

rotation

t

t

gravity

c

c

initial

final

initial

final

initial

final

INITIAL

FINAL

net

s

k

=

=

=

=

=

=

=

=

+

=

=

=

=

=

=

D

D

=

D

D

=

=

=

=

=

=

=

=

=

=

=

=

D

D

=

D

D

-

=

D

-

=

D

=

-

=

-

=

D

=

=

=

=

=

=

=

=

-

=

-

=

+

å

å

å

r

r

r

w

w

w

w

a

w

q

a

t

w

a

q

w

p

w

w

q

t

t

m

m

r

r

r

r

r

r

Equations, Conversion Factors and Constants:


� EMBED Equation.3  ���
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